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Mod 4 Test Review: Lines and Angles Name:
Date: Per:

4.1
Use the figure for 1-3 A

1. The measure of #4 is 38°. What is the measure of ~/2? 2|3
o Ay \

\ 42 =<¢§ 1 3
- ¢5=90-33 %15 :

2. The measure of £1 is 75° and the measure of £5 is 52°. What is the

measure of £6? e\ Ly r<p =80 =53 v
. ISE52 +¢lp = IRG
155 123 +¢|p = 180

3. ZXand £ Ydo not share a side. The measure of £Xis 45° and the measure of £ Yis 45°. Which
of the following terms could describe ZXand Y. Choose True or False for each term.

A linear O True ® False uS
B vertical ® True O False d * J\t‘,/
C complementary @ True O False Y

ys

D supplementary  © True & False

For 5-6, use the figure below where m | n

L

Zl.k +50=|80
4, W’f@gﬁlthe value of y? 24=138
7
L LB s nek o dagree e
7 xa5=130
5. What is the value of x? X= 25

‘ \2% Mo{',g. dLgru

6. W@_is_lthe value of 22
| 50

4.2

Find each angle measure.

7. me1 -‘Tﬂ 8. me2 ) 114\ 2

SSI: 133° CORR*‘ g__
\86-133= ’

1195




. mzABC Jﬂ

130 -%3 = Q%

11. The measure of 24 =

—m—

10. meoeF_| oL \

Rx-34=Sx+2

3x~-3M=2
3x= 3o
X=\2

<DEF=Sx t2
=5(2)+2 = LL

(x + 3)° and the measure of 4B =

(2x — 7)°. If these
angles are vertical, find the value of x and the measure of each angle. ______

Verkical: & ZR=X+3 ¢B=2x-% = 1D
m%n zPo} =lor3 = 2(0)-% =0
= &R= = =206-3 =3
3:x-3 13 e <B=13
/0=X

Prove the alternate interior Angles Theorem

12. Given: p| g

Prove: mz3 =ms5

Linear Pair Theorem

Given

Definition of supplementary angles
Substitution Property of Equality
Subtraction Property of Equality

Same-Side Interior Angles Postulate

Statements Reasons
1. plg a. [Given
2. 23 and £6 are supplementary  |b. SST F\nqlm %g@'q{g
3. mz3 + mz6 = 180° et ob SUDD <.5
4, £5 and «£6 are a linear pair d. Q—;N,gn
5. 25 and ¢6 are supplementary g b,g}; O-F LMLC\( ?oj{
6. M5 + mc6 = 180° . ek of Sugp. £s
7. mz3 + mz6 = ms5 + ms6 ! 116
| 8. mz3 = ms5

\




4

13. Use ;
a compass and straightedge to construct a line /m through P parallel to a line /.

v

14.Use the given angle relationships to decide whether the lines are parallel.
Explain your reasoning.

a. 22 =45 / /

o/le b% B convevse of ok >
SSX angle,s / /
b G

b. mz4 = (x +20)°, ms8 = (2x +5)°; and x=15
(8=2¢+5  Sinct <4=<8 then b/[c bnﬁv

MmeHq = X +20 J
_i1s+20  =20s)+S e converse of CGVV{SPond!nj
295 =35 angus
C. 24= /8

Since ¢4 5§ than bllc Lp.er Ccnversk a(—‘
COW!Spmdfng c?nglas.

d. mz3 = 68°, mz7 = (5x+3)°, x=13
<?=5x+3 Since ¢3=44 Hagn b/lc b‘&' th

=5(E)*3  ponveet oF Correspendig
A0

anglaj




15. Construct the perpendicular bisector of 4B

——

"

Use the figure to find the following lengths.

16. Given: WY is the perpendicular 17. Given: CE is the perpendicular
bisector of AB. bisector of FG.
‘xbonlt Know e
) DE« ; FEI oY EG

G=_1%

m=_1%

cc=_\
wx= VH05 or W5 co=_\4o or 2{To

%

ta 2t +b* =c? “ﬁq “t*q wi[*
a¢ - o+ 8% =21° & . 4 ”ll”z-'
a*+324: 129 Y7o a=40
z 4= Vo




18. Write the equation of a line that is perpendicular to the line y = 4x — 2 and passes tthUQh the

point (3, -1). Im=-t " 3 s
o MING - 3:"') - |
whe TN I ERE a4
‘I = 'q(X'f) L
Uaf} =Ty
- -]
19. State whether each pair of lines is parallel, perpendicular, or ne|ther IS —
a. x—-2y=12andy=x+5 e B ‘a’n- lﬁﬂ )\ il -
: - = -2 ==-X+lZ
1 e l l\hllfh&
b. cx+y=8 andy=-5x %--ix-lo ol
\ - = =OX . ":"a' i
b, SX+tu*= %

20. Write the equation of a hne that is parallel to y = _3x + 1 and passes through the point (9, 0)
“b"%“' lwm=%,(@0)

m=-3 g~ o = (X=X0)
Lg-g,aéiLﬂ)\
| w==3%-3

For 21-25 Write T for True or F for False. If false change the statement so that it is true.

nor
21, E Using examples is BLQ acceptable reasogor proofs.
)

ons , post ulales, + Yucrems
22, E Alternate mterlor an%es formed by parallel lines cut by a transversal are

—supplementary:  CONGYULn
23. T Vertical angles are always congruent.

24. l If a point is on a perpendicular bisector, then it is equidistant from the endpoints of a
segment.

25. E Lines that are perpendicular beth have a_positive slope.
oppssite redprgeal



6 — 33 Refer to the figure. Fill in the blank with the appropriate angle:

,f_lp__26) Z3 and £? are alternate interiorsZs
< | 27) £2 and £? are corresponding /s.
LZS) Z4 and £? are alternate exterior Zs.

LZ‘Q) /3 and £? are corresponding Zs.

&
_l:!___30) /1 and £? are same side interior £s.

LBU /4 and «£? are same side exterior Zs.

<2 32) /8 and £? are vertical Zs.

13_01_‘;"[_33) /1 and £? are linear £s.

34. Answer the following using complete sentences and any inform

ation to

defend/justify your thinking.

_ Can either of the lines referred to in the slope criterion for perpendicular lines be vertical?

Why or why not?

. If a linear pair of angles has equal measure, why are the angles right :angles? Be specific.
Since linear pairs sum b 180 and if those 2 pairs are c'ongruemf:

than each angle must be 90, tarefore a nghf: anﬁle

. How can you determine that a statement is the converse of a theorem? Give an example.

_ Near the end of an indirect proof, a step contra
mean in terms of the proof?

dicts a known true statement. What does this



